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COMMON CORE MATHEMATICS CURRICULUM Lesson 1 Homework

Date

1. Fill in the blanks using your knowledge of place value units and basic facts.

a.

43 x 30 1ooo's | 109 ’31 |D '
Think: 43 ones x 3 tens = ’Z i tens _/1 ' &q

430 x 30

43x30= "qu K ‘ 2 C\

Think: 43 tens x 3 tens = lg\q hundreds

430x30= lg\q‘ D 0

830 x 20
Think: 83 tens x 2 tens = 166 (O\UV\AV‘J $

830x20= \bbOD

4,400 x 400 U /00 0 O
H :l hundreds x hundreds =176

4,400 x 400 = I’_’L goo b

80 x 5,000

_% _ tens x % thousands = 40 l gb Q_D
80x5,000= H0 OQ 00

2. Determine if these equations are true or false. Defend your answer using your knowledge of place
value and the commutative, associative, and/or distributive properties.

a. 35 hundreds =5 tens x 7 tens TY’\AQ 5 *CV\SX _7-‘-2,;4\5 = C)X—I)(-\-gh xken = %% »\Uh‘(‘;

b.
C.

d.

770x6=77 x6x100

50 tens x 4 hundreds = 40 tens x 5 hundreds Tv"l,{e . L"D "'CV\.S XL_-7 ‘lUV\dV‘éJ_S

= [0 doms x U x © \undred s
24 10x90=90x 2,400 = 1D 4one x 5 Ylumdveds

3"""%/’ = 50 4ens x 4 hundreds
70 Lo

Vo\l Se

Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place

value patterns and the distributive and associative properties. ny
Date: Tt €ngage

This work is licensed under a

COMMON
CORE

© 2013 Common Core, Inc. Some rght: . . ) Bv-nc-sa | der . . .
© 2013 Common Core, Inc. Some rights reserved. commoncore.org (c) BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

Pelse . T0x b= T74ens x b =T77xbx 10 <00k |0

2.A.13




NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 1 Homework

3. Find the products. Show your thinking. The first row gives some ideas for showing your thinking.

a. 5x5 5 x50 50 x 50 50 x 500
=25 =25x%x10 =(5x 10) x (5 x 10) =(5x5) % (10 x 100)
=250 =(5x5)x 100 = 25,000
= 2,500
b. 80x5 80 x 50 800 x 500 8,000 x 50
Fxlox S TXSxIDXI0 gy SxlppxI0b  gxSx [pod ¥ 1D
g% 1o $D % job % |1000 Yp ¥ |ppoob
Up «1p3000)] D0 =
[#200]  Tgbpp o0 Goppoo]
c. 637x3 6,370 x 30 6,370 x 300 63,700 x 300

L3T 3% XD ra743xXI0  (,37x3X DO x /0D
141 x 1o @1l x 1060
bt
1910000
4. A concrete stepping stone measures 20 inches square. What is the area of 30 such tiles?

VTov o

2 x wloxlo
(L X oL
G Do

5. Anumberis 42,300 when multiplied by 10. Find the product of this number and 500.

4220 x o= 7% 42350 %500
472 x Sx lpx DO
211Sx]00D

2115000

COM MON Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place ny
value patterns and the distributive and associative properties. 2.A.14
CORE Date: s engage
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Name Date

1. Round the factors to estimate the products.

2. s07x82~"M0_ x €O - ShoOD

A reasonable estimate for 697 x 82 is ':)(,; oo

o, saorxer= (000 IV 420060
ressonatie simate for 597 <67 LD DD
 smonss- Q000 GD 450000
Areasonable estimate for 8,840 x 45 is 450;000

2. Complete the table using your understanding of place value and knowledge of rounding to estimate the

product.

Factors Rounded Factors Estimate

a. 3,409x73 3,000x% 70 210,000

b. 82,290 x 240 0,000% 200 | 1,0 00000

| e as2x39 Ipo0 ¥ 0 40000 O
-— Y —

d. 98tens x 36 tens ’DDDY 400 Lf OD,DDO
e. 893 hundreds x 85 tens qD,DDDY C]‘D D q l‘b DD‘D §) D

3. The estimated answer to a multiplication problem is 800,000. Which of the following expressions could

result in this answer? Explain how you know.

8,146 x 12 81,467 x 121 8,146 x 121 81,477 x 1,217

$ood¥ 10 Ro,000x 100 | 300X 160 | WO X 1D0Y
36000 X’()bD,DDD gob000 / F500DDO D

COM MON Lesson 2: Estimate multi-digit products by rounding factors to a basic fact and ny
using place value patterns. g g 2.A.26
CORE Date: 7/4/13 en a e
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 2 Homework

4. Fill in the blank with the missing estimate.

a. 751x34:%bbD x ’50 = 24,000
b. 627 x674 = {aDD x WD D =420,000
c. 7,939x541 =? o D D X SD L = 4,000,000

5. Inasingle season the New York Yankees sell an average of 42,362 tickets for each of their 81 home
games. About how many tickets do they sell for an entire season of home games?

41.%1 %8 |~ 5000 x 80 = 3266600

6. Raphael wants to buy a new car.

a. He needs a down payment of $3,000. If he saves $340 each month, about how many months will it
take him to save the down payment?

240X __ =% 000 ot 1D monrths
200% 10 =300

b. His new car payment will be $288 each month for five years. What is the total of these payments?

Aot ¥ 5,000

2%3%x 1x S
Lob % IDXE = 30bx 5p = 150006

COM MON Lesson 2: Estimate multi-digit products by rounding factors to a basic fact and ny
using place value patterns. g g 2.A.27
CORE Date: 7/4/13 en a e
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Draw a model then write the numerical expressions.

a. The sum of 21 and 4, doubled

—

\/\{\/
2144

(2148 XL

b. 5 timesthe sum of 7 and 23

——/
%

Sx (1+13)

\ -

c. 2timesthe difference between 49.5 and 37.5

| l

q5-1.5
2x(4a5-37. ﬂ

l—

d. The sum of 3 fifteens and 4 twos

T lislis[2 J2

T |z

(3315 + (42

e. The difference between 9 thirty-sevens and 8

thirty-sevens
37371

171

’5’1\ 17

el 37 37

7

37

i S i K

——/
(Qu37)- (g%37) 7

Triple the sum of 45 and 55

L)
H\)
45 455

2, % (45 +55)

Lesson 3:

COMMON
CORE

using a visual model.

Date: 7/4/13

Write and interpret numerical expressions and compare expressions
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 3 Homework

2. Write the numerical expressions in words.

Expression Words The Value of the
Expression

a. 10x(2.5+13.5) D +imes Hy Suw 0F 2.5 and [?-5 l tg O

b. (98-78)x 11 \| times the Afavence betueon
q(é owd /P% 21 O
c. (71+29)x26 Uo Hwes the sum 38 7| and a9 270D

d. (50x2)+(15x%2) ’“,Qg\)w\ ol =Y)) -hJDS Ow\o\
1S twbs. 20

3. Compare the two expressions using >, <, or =. In the space beneath each pair of expressions, explain how
you can compare without calculating. Draw a model if it helps you.

a. 93x(40+2) @ (40+2)x 39
The oGt e 1s ogentrev- laecause it i % Govps pF
(4o +D), Wit vight dide only is A qaups of (4D +1)

b. 61x25 60 twenty-fives minus 1 twenty-five

The lef+ side s Voigaer Lgzanse T 16 (o enty-Hvees,
e vight gt i€ o

v 99 Heenk -Lives.

=

Lesson 3: Write and interpret numerical expressions and compare expressions
I COMMON using a visual model. en a eny 2.B.15
CORE Date: 7/4/13 g g —
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 3 Homework

4. Llarry claimsthat (14 + 12) x (8 + 12) and (14 x 12) + (8 x 12) are equivalent because they have the same
digits and the same operations.
a. IsLlarry correct? Explain your thinking.

UZYVY is vy ect. The Lefd (s Qb Lopies of 20 . The Mgkt 1 1Y
Copes oF 13, plus T copres »f 12,

b. Which expression is greater? How much greater?
The et & doyitsly bigges \acaunce
9% oy ¢ bigar Pan 22 Hwelves.

WD = U (1D +(3x |2)

-2 b (b} + 90

2064
= 50

Lesson 3: Write and interpret numerical expressions and compare expressions
II COMMON using a visual model. en a eny 2.B.16
CORE Date: 7/4/13 g g —
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Name Date

1. Circle each expression that is not equivalent to the expression in bold.
a. 37x19

37 nineteens (30 x 19) — (7 x 29) 37x(20-1) é
b. 26x35
(26 x 30) + (26 x 5)

35 twenty-sixes (26 +30) x (26 + 5)

c. 34x89

34 x (80 +9) @+(34x9

2. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking. The first one

34 x(90-1) 89 thirty-fours

was done for you.

a. 19x50= l l fifties b. 11x26= ' twenty-sixes

s0 |50 |50 | .. 50 | A 1A Y I u,]
— \/\JL\,) .
1 2 3 . 19 20 o) Jmen’fy VA8 ﬁ‘ M‘,A'\‘S\‘k

Think: 20 fifties — 1 fifties Think: l twenty-sixes + twenty-sixes

=(ZD x 50) — ( ' x 50) =(lo x 26) + ( ’ x 26)

boy - S0 950 | aLb a6 28

II COM MON Lesson 4: Convert numerical expressions into unit form as a mental strategy

i-digit multiplication n
CORE Date: f;};;nltgltl digit multiplication. engage y 2.B.27
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 4 Homework

Jwen - Bives
sty

c. 49x12= o twelves d. 12x25=__| :L seventy-fives
S fwelves
o \nfiz) - - - \/{— ("75‘75 35 15‘\ = l"',g 1’%
— N — W-@&o 2wtk i
Think:g_D twelves — 1 twefvzs Think: L twenty-fives + 1 _&— twenty-fives ‘?
(6L <1 <1y el x25)+(£x25)
oL 1 CE% | 95D g . OO

3. Define the unit in word form and complete the sequence of problems as was done in Problems 3—4 in the

lesson.
a. 29x12=29“1:~’@“//§ b 11x31-31 €levens
Think: 30 M\\/ﬂs _1 hue e Think: 30 @levems €\~€U€v\
=3ox|’b ) -(1x |2 ) =(30x\\ )+ (1x ” )
%0 ol g N CL I (RS 1
c. 19x11=19_@ W\NeWn5 d. 50x13=13 Cig—‘\—-\dS
Think: 20@1&(_—1 {ll\l-lh Think: 10 ﬁC’ws +3 C\C-l\l 5
-@ox \\ )-ax V) -(10x S0 )+ 35D )
W0 L LA S 150 S0
I COM MON Lesson 4: ]((20nverltt.rj;.m.fricalltfsxlprets.sions into unit form as a mental strategy ny
CORE Date. 7(};711: i-digit multiplication. engage 2.B.28
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4. How can 12 x 50 help you find 12 x 49?

2% 50 Laovld be o0 big Wy 2. Now sdokad 1240 get 12X 49

5. Solve mentally.

a. 16x99:(|Lx‘D®"(’L"B: L0010 = IS4

Goxe) « (2% V)= Lo0b+%0 = 2010

b. 20x101

6. Joy is helping her father to build a deck that measures 14 ft by 19 ft. Find the area of the deck using a
mental strategy. Explain your thinking.

19 = (14v25) ~(14x )
= 2%0- .

=L

7. The Lason School turns 101 years old in June. In order to celebrate, they ask each of the 23 classes to
collect 101 items and make a collage. How many total items will be in the collage? Use mental math to
solve. Explain your thinking.

13 %|pl =(73x16D) + (3% 1)
=750 +7%
= 28707

Lesson 4: Convert numerical expressions into unit form as a mental strategy

numerical expres ny
f Iti-digit multiplication.
e s mitpicaton engage’™” 282
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Name

Date
1.

Draw an area model then solve using the standard algorithm. Use arrows to match the partial products
from the area model to the partial products in the algorithm.

a. 24x21=

b. 242x21=

342
v [ 24%

9\0 qu"D x 21

a. 314x22=

2. Solve using the standard algorithm. m

Lesson 5:

I COMMON
CORE

Connect visual models and the distributive property to partial
products of the standard algorithm without renaming.
Date: 7/4/13

engage™ zsa
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 5 Homework

3. Avyoung snake measures 0.23 m long. During the course of his lifetime, he will grow to be 13 times his
current length. What will his length be when he’s full grown?

0.%5 0.17%

Al 0.69 % |73
L 9

\O LS

2.9

4. Zenin earns $142 per shift at his new job. During a pay period, he works 12 shifts. What would his pay be
for that period?

M 42
| i R S
LA 23 Y ]}71%

WD (42

——‘x

L0 |10 4

Lesson 5: Connect visual models and the distributive property to partial
I COMMON property top

products of the standard algorithm without renaming. ny
CORE Date: 7/4/13 eng age 2.B.42
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Name Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial

products from your area model to the partial products in the algorithm.

a. 27x36=

Lb T 27
(p{,vw ﬂ bz %36

1l d
Do L5810 — g,

912

b. 527 x36= 527

Co 20 7 | % 36
e [woo v | g |3 — > T

3|1 b3
Yo \15000 | bbb | 2lp |=> 15% 1w ﬁ\%?ﬂ

2. Solve using the standard algorithm.

a. 649 x 53 c. 758 x46

o

4Sy§

’YM-P '5 O +*50132 0
b. 496 x53 d. 529x48
519
49 | .
x S 73 re 215"?%2,
ab 233 43 Q )
4“9 g v R\ Lo
1\ (g O b 5 C? 2
267 9 %
COMMON Lesson 6: Connect area diagrams and thg distrit.)utive properFy to partial n
I CORE Date: 2;27;?5 of the standard algorithm without renaming. engage y 2.B.53
© 2013 Common Core, Inc. Some rights reserved. commoncore.org G;c) T:‘is Mil\?rk is licensed under a

Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 6 Homework

3. Each of the 25 students in Mr. McDonald’s class sold 16 raffle tickets. If each ticket cost $15, how much
money did Mr. McDonald’s students raise? L\ 0 b \g

1S 40D ickets x \§ > 4
w \ L LooD LD

M %L))DDD

4. Jayson buys a car and pays by installments. Each installment is $567 per month. After 48 months, Jayson
owes $1250. What was the total price of the vehicle?

?L((; Ealse S N
— — ;_\/\J
4SS b Ug x 567

1T b YD

177 b

17200
+ | L. G0
34 Lo

¥4 4l

Lesson 6: Connect area diagrams and the distributive property to partial

products of the standard algorithm without renaming. ny 2.B.54
pate: opas €ngage B>

I COMMON
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Name

Date
1.

Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from your area model to the partial products in your algorithm

a. 273 x346= 273

200 'w '5 ae
X

L 1638 328

16 3%
40 xow not> [0, 910 103ty

¥1q00p
1,00 ],mDD 1,\boo Q0 31 Aot qq)'“:J?

b. 273x306=

00 71D D x 306
Lo (%20 19 = 1L3S TRER
olo| ool 6 +9 1900
2D MD\’L\DDD)W-;%\,‘:(DD %3)5 3%

C.

273

only two partial products in (b)?

Pocause n 206 Here is v d(qi)r/w\lua m4he [D5 place

Both Parts (a) and (b) have three-digit multipliers. Why are there three partial products in (a) and

I COMMON Lesson 7:

Connect area diagrams and the distributive property to partial n
CORE products of the standard algorithm with renaming en a e y 2.B.67
Date: 7/4/13
2013 Common Core, Inc. Some rights reserved. commoncore.org

(cc) BY-NC-SA This work is licensed under a
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 7 Homework

2. Solve by drawing the area model and using the standard algorithm.
a. 7,481 x290= b. 7,018 x209 =

00, Yoo Go )
a0 (> (73290

000, o 3
g C'>?Db ap |q~ b {,Z)ILZ

149 ;b0 - ﬂoO’QDD\wOD b0> =140 3Lo0

)

3. Solve using the standard algorithm.
a. 426 x357 L! 72 (’ c. 426x307

v 42
132’72 Y50

T1300 RSV
O 1426x357‘ 2780 0 @1426x307 (21} OO
'?.10?1 )

< | 1307 €2
N
S e m)(-]- P“ﬂz e eyl Faae.

4. The Hudson Valley Renegades Stadium holds a maximum of 4,505 people. During the heights of their
popularity, they sold out 219 consecutive games. How many tickets were sold during this time?

w308 oS ke
ﬂos%s
q LS59S

5. " At the farmer’s market, each of the 94 vendors makes $502 in profit each weekend. How much profit will
all vendors make on Saturday?

501
Y QI.L
w008
YS1¢€ 0
471 ¢8

Lesson 7: Connect area diagrams and the distributive property to partial

COMMON ny

II products of the standard algorithm with renaming. 2.B.68
CORE Date: 7/4/13 engage
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7. 04
74@‘ X(,3! b Z
X 290 o
L1>3a9 0 e 6o
142 6.2 DO
9 0
Q\!L?)H‘
14 20
LU R
130 993 2
7130 NN :
Sonors ﬁT%%?
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Name Date

1. Estimate the product first. Solve by using the standard algorithm. Use your estimate to check the
reasonableness of the product.

a. 312x149 b. 743x295 c. 428x637
=300 x 100 X 700> 360 =210000 “""fDDXLbD’-l%,DDD
= 30,000
LS 41 ¢
312 ~ 2965 Y -
x 149 BSu | C ‘22?’60
r%(gg% Q"’g"% +25L 30 0
31200 ’f_l_“'/%%g- 17263 L
46,4 ¢ 3 l
d. 691x305 e. 4,208x606 f. 3,068 x 523
X 100%x30b =20660 | X Ypud Y boo :1}[{05000 1 ")‘bbbx Sob = l;;DD,OOb
LG\ Wiy
20§
2305 X q(,o b X 513
14 ss L0 L §204
1-1.0—"30 1S4 ¢ b13bo
" 4 +15248020 slsT4 000
1\01-7"—3 SSoo0Y &
R \bovs ¢y

g. 430x3,064 h. 3,007 x 502 i. 254x6,104

< L!va"bbb-:l}oo,bbb A Yo0d X Sbb =|"'30b,000 ~ LoD * bovd 3 5’0'}000
Yol u Aos Loy
— X 430 ¥ Gpa < 154
Q1910 Lo ¢ 24Y b
|
mistis | mefdll | anall
/—\_—
) ) 0 s695 |4 I‘L'LD?DL
) ) \€co Y | |
/ /
Lesson 8: Fluently multiply multi-digit whole numbers using the standard
COMMON algorithm and using estimation to check for reasonableness of the
| IRSRRt: i e e e ekttt angage™y 287
Date: 7/4/13
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 8 HOmework

2. When multiplying 1,729 times 308, Clayton got a product of 53,253. Without calculating, does his
product seem reasonable? Explain your thinking.

M9 v oY Clayton's pvoduch dugs net seewn varsevetoly
= 16VY  x T3bDL SMee tur ¢Shwetion 1< arpund 600,000 .

= (,bo)wu

3. A publisher prints 1,912 copies of a book in each print run. If they print 305 runs, the manager wants to

know about how many books will be printed. What’s a reasonable estimate?

e
—
-

\dlr v s Avound 609,000 ctpres.

N
A= 1oob ¥ SoL
= LobbDODD
)
Lesson 8: Fluently multiply multi-digit whole numbers using the standard
I COM MON algorithm and using estimation to check for reasonableness of the ny
CORE products. engage 2.B.79
Date: 7/4/13
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Name Date

Solve.

1. Jeffery bought 203 sheets of stickers. Each sheet has a dozen stickers. He gave away 907 stickers to his
family and friends on Valentine’s Day. How many stickers does Jeffery have remaining?

\ ] e
Lo’ R \SW stickevs [of)

RaSEECC — Q0
t203 p 1629

2. During the 2011 season, a quarterback passed for 302 yards per game. He played in all 16 regular season
games that year.
a. How many total yards did the quarterback pass for?

Lk&_ﬂl \/&\Fﬂ(ﬁ

b. If he matches this passing total for each of the next 13 seasons, how many yards will he pass for in his

career?

L

IEEEH
4332 6

b2 %1 ¢

3. Bao saved $179 a month. He saved $145 less than Ada each month. How much would Ada save in three
and a half years? 1 - +( = U2 months
4 33 years = 12 412412+

Boo oy ; N
Ada X_Lls 2 Ada would save #13,608 in 37" years.

cy
> 129060
e 13609

Lesson 9: Fluently multiply multi-digit whole numbers using the standard

COMMON ! . ny
algorithm to solve multi-step word problems.
I CORE Date: 7/4/13 engage 2.B.88
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NYS COMMON CORE MATHEMATICS CURRICULUM

Lesson 9 Homework

4. Mrs. Williams is knitting a blanket for her newborn granddaughter. The blanket is 2.25 meters long and

1.8 meters wide. What is the area of the blanket? Write the answer in centimeters.

'f’ D ,SDD $SMV'€ Cem“':mg{:(yg

Soccer Field Dimensions

FIFA Regulation New York State High Schools
(in yards) (in yards)
Minimum Length 110 100
Maximum Length 120 120
Minimum Width 70 55
Maximum Width 80 80

Write an expression to find the difference in the maximum area and minimum area of a NYS high

school soccer field. Then evaluate your expression.

(110 x g0y — (Job x5
- G500

AL b
410D

(U IDD s yes.)

Would a field with a width of 75 yards and an area of 7,500 square yards be within FIFA regulation?

Why or why not?

75%_20 -1500

Since Hemmimum |ehg-\lf\ s 140 \/arols,—l—hl's feld '\sv\fa‘t'

C.

within r‘egula-l-i oN.,

It costs $26 to fertilize, water, mow, and maintain each square yard of a full size FIFA field (with

¥349, 00

maximum dimensions) before each game. How much will it cost to prepare the field for next week’s
2
match? ‘L b q [0 bo
X %0 * A6
— G bo §
496 0p
L 9: Flu'% ultiply multi-digit whole numbers using the standard
gg%MON esen algspitfzn:nto SZI\\//:muIti»sgtep wgrzr;r?bleer::s.sng e ener
Date: 7/4/13
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 10 Homework

Name Date

1. Estimate the product. Solve using an area model and the standard algorithm. Remember to express your
products in standard form.

a. 53 XI.Zz%D X \ :CJD

o ~ A Fenths 12 (tenths)
, 7, dewths

- bob Tenths

!
Y Loop
b3l tewth "L b =

b. 21x82= L x%() _ (LO
w t ‘ lenths 2 1 (tenths)

Tlup \ L Y2 touth s 282

L\
1 MM_ z'ﬂgd-Ls =

1771 2 tenths

53

X

So

(0]

2. Estimate, and then use the standard algorithm to solve. Express your products in standard form.

a. 4.2x34=~ L{ x3u =“LD b. 65X5,8z"o xl. :u'l,o
4 2 (tenths) 5 8 (tenths)
x34 x65

290
* 4§00

Touith s —s'/-—;o?g\,\ $

= (4%

I COMMON
CORE

Lesson 10: Multiply decimal fractions with tenths by multi-digit whole numbers

using place value understanding to record partial products. ny 2.C.11
R engage
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 10 Homework

c. 3.3x16 d. 15.6x17
vy XS 3y 1IS.L*2 IS¢t
2L % | b v \A R

e. 73x24 f. 193.5x57
1% 7% 93.5" 5 1435
NG W R U x 571 X_57
1354 5

+96750 .
’J\%“"@ ({027 5 > 10295

3. Mr. Jansen is building an ice rink in his backyard that will measure 8.4 meters by 22 meters. What is the
area of the rink?

3.4 9

* x<

\
168 6 |g4g

¥y § ———=

4. Rachel runs 3.2 miles each week day and 1.5 miles each day of the weekend. How many miles will she
have run in 6 weeks? »x10

« 16 [.S 25 19
.17 31 X122  x\2

*Hp X 22 i )
56090 YISy b
lgb —> (9§

AL +1% :-

I COM MON Lesson 10: Multiply decimal fractions with tenths by multi-digit whole numbers

. : ) ny
using place value understanding to record partial products. .C.
CORE S engage 2.C.12
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 11 Homework

Name Date

1. Estimate the product. Solve using the standard algorithm. Use the thought bubbles to show your
thinking. (Draw an area model on a separate sheet if it helps you.)

a. 2.42x12=~ L L =')‘4 b. 4.13x37= sl Ao - PO

Think: 242
(2.42 x 100

Think! 2904 is 100
times too large! What

is the real produc

o LD

413 x37 =

2. Solve using the standard algorithm.

— 3yl

a. 2.03x13 = c. 371.23x53 % 5§73
mnr369

3 I &g

| 9

J—'? +lgel
203 0
+ k3T
.57
b. 53.16x34 GA.IL d. 1.57x432 Y3
2 3 g3 G
212 64 +L1¢b5%
t159Y4 80 ESEERE
130 77,4
Lesson 11: Multiply decimal fractions by multi-digit whole numbers through
Il core ™" et enaage 2
Date: 7/4/13

This work is licensed under a
© 2013 Common Core, Inc. Some rights reserved. commoncore.org (cc) BY-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.




NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 11 Homework

3. Use the whole number product and place value reasoning to place the decimal point in the second

product. Explain how you know.

a. If36x134=4,824 then

36x1.34= L} g ‘QL,

b. 1f84x2,674=224,616 then 84x26.74= l 1 | lﬂ ol (a
c. 19x3,211=61,009 then 321.1x19= C , b O.t I

4. Aslice of pizza costs $1.57. How much does 27 slices cost?

.57
AT

109 9
f%lv O
12,29

5. A spool of ribbon holds 6.75 meters. If the craft club buys 21 spools: (D .
S

a. What is the total cost if the ribbon sells for $2 per meter?

(,71S%11%2
(Is»lr

¥

b. If the club uses 76.54 meters to compl€te a project, how much ribbon will be left?

Lesson 11:

I COMMON
CORE .
ate:

2013 Common Core, Inc. Some rights reserved. commoncore.org
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Multiply decimal fractions by multi-digit whole numbers through

conversion to a whole number problem and reasoning about the ny
placement of the decimal. engage
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NYS COMMON CORE MATHEMATICS CURRICULUM

Name

Lesson 12 Homework

Date

1. Estimate, and then solve using the standard algorithm. You may draw an area model if it helps you.

2 24x231~ LU« L . L’D

b. 5.42 x 305 ~ g ijb - ,SD()

5.42

x3 05
710
Y2600
65 3,1 b

2. Estimate, and then solve using the standard algorithm. Use a separate sheet to draw the area model if it

hel .
elps you l 5 } 4 1
a. 123x21 > 2 | b. 3.2x41 ¥ ‘z_
~Sptv=Ll — o5 & YeYp=10 ‘_\_'; .
Yy cCo. 13 1,*
1s,83
c. 0.32x41 0.3L d. 0.54x62 0,';'-}
= 2216  w Y| Tdegr=3l x l»v.g
I 6
v L_z 32 Zﬂ +351 ¢ p
| 341 2 >3,Y%
COM MON Lesson 12: Reason about Fhe product of a whole number and a .decir‘nal with n
I CORE Dater P;L/J:/dlrsedths using place value understanding and estimation. engage y
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 12 Homework

(.04 ¢.83
x2¥ %6 g3
e. 6.09x28 4g7 2 f. 6.83x683 ~0yYy9g
= 6¥Is=I§0 197 ¢ 6 T 1,700 gyl yu
= §qec6 +409% 0
l'm.o; 2
G 4o8 9
g. 6.09x 208 (.69 h. 171.76 x 555
:.L\g-Lob Y1 oo§@ kw))d_po \"l’ll—
= nto yg 1 2 _ ob x GGCS
LniE 60 =1 SHIN
2 Qg0 0
e +51§188 5
9S32 6,80

3. Eric walks 2.75 miles to and from work every day for an entire year. How many miles did he walk?

o Feam ?;b 5 Ertc walked 2007.5 miles during +he year.

275 | 275 X532 NOTE: T# is likely students may interpret Hre prolem

— d'al £1%2.5 o 2s Eric walking only 215 m; per dey. This is
5.5 miles 2607,5 understandable ! Roll with i+,

4. Art galleries often price paintings by the square inch. If a painting measures 22.5 inches by 34 inches and
costs $4.15 per square inch, what is the selling price for the painting?

11.7' 4.1

q ¥7L5S

X2 d 2337'(?

0 20058 ©

L7 5 0 M7 YT S
1L 6,0

5. Gerry spends $1.25 each day on lunch at school. On Fridays she buys an extra snack for $0.55. How
much money will she spend in two weeks?

Y

| 15 1.5 1.]0 1L ;
F G X g v a F b p
— oo bbb

1.€ 0 6.0 0 |3.60

Lesson 12: Reason about the product of a whole number and a decimal with

| . deci ny
hundredths using place value understanding and estimation. 2.C.33
Date: s engage 2633
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A STORY OF UNITS

Name

1.

Lesson 13 Homework

Date

Solve. The first one is done for you.

a.

Convert weeks to days.

6 weeks = 6 x (1 week)

=6 x (7 days)

=42 days

b. Convert years to days.
Tyears= 1 x ( | year)
- T < 3b% 4
2,555 .

[oN

Convert meters to centimeters.

4". S x ( l m)
'-l-. S. x ‘ D D cm)
’-l-g'O cm

45m=

d. Convert pounds to ounces.

12.6 pounds & ‘2QX( ‘ lb)
= [2.0% (|b o02)

= 20l.L ounces

e. Convert kilograms to grams.

ez 3,09 X (| k)
=3.04% (1,000 g)

= 3,090 g

f. Convert yards to inches.

257 =208 % (| yd)
=Usx (3 H)
=248 % 3 x (1 £4)
= 248 x3x (12n)
= 8,820 n

MATH

REKA Lesson 13:

measurements.

© 2014 Common Core, Inc. All rights reserved. commoncore.org

Use whole number multiplication to express equivalent

80



A STORY OF UNITS

Lesson 13 Homework

2. After solving, write a statement to express each conversion. The first one is done for you.

a. Convert the number of hours in a day to
minutes.

24 hours =24 x (1 hour)

=24 x (60 minutes)
= 1,440 minutes

One day has 24 hours, which is the same as
1,440 minutes.

b. A newborn giraffe weighs about 65 kilograms.
How much does it weigh in grams?

b5 kg= 65 % (I kq)

= 6S% (1,000 9)
= 65,000 g

One kilogram hag 1,0OOO gramg, g0 65
kilogramg ig the game ag 65,000 gram.

c. The average height of a female giraffe is 4.6
meters. What is her height in centimeters?

4L w= 4 L[l wm)
=4 % (100 em)
=4L0 tm

One meter hag 100 centimeterg, g0 4.6 meterg
ia the eame ag 460 centimeterg.

d. The capacity of a beaker is 0.1 liter. Convert this
to milliliters.

0.\ L= 0.\%x (11)

= 0.1% (1,000 mL)
=100 mL

One liter hag [,OOO millilitere, g0 Ol liter ig the
eame a¢ |00 milliliters.

e. A pigweighs 9.8 pounds. Convert the pig’s
weight to ounces.

9.8 1b=9.8% (1 Ib)
=9q.8% (Ib 07)
=15L.8 02

One pound hag 16 ounces, 0 9.8 pounds ig the
came ag [56.8 ounces.

f. A markeris 0.13 meters long. What is the length

in millimeters?

O.13m= 0.13% (1 m)
=0.13%x (1,000 mm>
= 130 ywn

One meter hag ,OOO millimeterg, g0 O13

meterg i the game ag 130 millimeters.

Lesson 13:

EUREKA
MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org

measurements.

Use whole number multiplication to express equivalent
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A STORY OF UNITS Lesson 14 Homework

Name Date

1. Solve. The first one is done for you.

a. Convert days to weeks.
42 days = 42 x (1 day)
1
=42 x (; Week)

42
== week

=6 weeks

b. Convert quarts to gallons.
36 quarts = 36 x (1 quart)

= 3 é’ x G gallon)
3t
= 4 gallons

= q gallons

c. Convert centimeters to meters.
760cm=__1b0 x| ] cm)

b m

d. Convert meters to kilometers.

2,485 m = 2;4 35 x ( ‘ m)

= 2,485  x(0.001 km)

=2 '-I-‘BS km

e. Convert grams to kilograms.

300¢g=3,090x (1 9)
= 3,090 % (0.00! |<a)
= 3.090 Ikq
= 3.09 kg

f. Convert milliliters to liters.

20smL= 208 X (| mL)
=20% % (0.001 L)

= 0208 L

Lesson 14: Use fraction and decimal multiplication to express equivalent

measurements.

EUREKA
MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org
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A STORY OF UNITS Lesson 14 Homework

2. After solving, write a statement to express each conversion. The first one is done for you.

a. The screen measures 36 inches. Convert36 | b. A jug of juice holds 8 cups. Convert 8 cups to

inches to feet. pints.
36 inches = 36 x (1 inch) Be = Bx (|‘ c)
(- eed) = 3x(z
=36 x (— feet
12 - 9
2
=%feet - 4
i o
=3 feet

One cup makeg 1/2 pint, so 8 cupg ig the

The screen measures 36 inches or 3 feet. .
came ag < pinte.

c. The length of the flower garden is 529 d. The capacity of a container is 2,060
centimeters. What is its length in meters? milliliters. Convert this to liters.
520 em = 529% (1 cm) 2,060 mL=2,060% (1 mL)
= 522 x (0.01m) = 2,060 % (0.061 L)

One centimeter makee 1/100 = OOl mefer, | o riliter makeg /1,000 = 0.00! liter, <0

20 529 centimeterg i¢ the same a¢ 529 2.060 millliters ie the came ag 2.06 liters.
meterg.

e. A hippopotamus weighs 1,560,000 grams. f. The distance was 372,060 meters. Convert
Convert the hippopotamus’ weight to the distance to kilometers.
kilograms.

372,060 m = 372,06D % ( | m)
= 372,060 % (0.00| km)
= 372.06 km

One meter makeg [/1,000 = 0.00!
kilometer, g0 372,060 meterg ig the eame
a¢ 372.06 kilometers.

1,560,000 9 = 1,560,000 x ()
=1,560,000 X (D.00! k)
= 1,360 kg

One gram makeg /1,000 = 0.00! kilogram,

20 1,560,000 grame ig the game ag 1,560
kilograme.

EUREKA Lesson 14: Use fraction and decimal multiplication to express equivalent

measurements.

© 2014 Common Core, Inc. All rights reserved. commoncore.org



A STORY OF UNITS Lesson 15 Homework

Name Date

Solve.

1. Tia cut a4 meters 8 centimeters wire into 10 equal pieces. Marta cut a 540 centimeters wire into 9 equal
pieces. How much longer is one of Marta’s wires than one of Tia’s?

gmBem=4 x(100em) 4 S eom = UDB cm

———

I )

t08.on = 10= KD.3 em 10 One of Marta'e wireg i¢ 19.2 cm longer
540 cm ~ 408 than one of Tia's.

~ e — 19.2 |

[TV

wNJ

540 em — 94 = 60 em
2. Jay needs 19 quarts more paint for the outside of his barn than for the inside. If he uses 107 quarts in all,
how many gallons of paint will be used to paint the inside of the barn?

%419 \07] ¢t
—A—— — A —~
des [ * |
Outcide * — % * | 19
19 4t —
Inside, * ] 107-19= 3%
% =number of qts used inside o= 893 2= Ul
H4t ot = 144 x (4 5a.|\on>
= Wy
m
= Axll
e S
Il gallong will be used to paint the ingide of the barn. '-‘-m ga“onq
EUREKA Lesson 15: Solve two-step word problems involving measurement conversions.
MATH 93
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A STORY OF UNITS Lesson 15 Homework

3. String Ais 35 centimeters long. String B is 5 times as long as String A. Both are necessary to create a
decorative bottle. Find the total length of string needed for 17 identical decorative bottles. Express your
answer in meters.

1 bote: A g Together ¢ |75

35 cm ¥ 3G
—_—
B . . : ’ A . 2|0 cm

\/’N/
BR3I5 = TS em

|7 bottles: 21D em

X 17 The total length of string
410 needed for 7 bottles ie
42100 - 357 meterq.

3570 cm = 3570% (0.6lm)=|35.Tm

4. A pineappleis 7 times as heavy as an orange. The pineapple also weighs: 870 grams more than the
orange.

a. What is the total weight in grams for the pineapple and orange?
'x.:weight of an orange 34

Total= 14S 9

x 810 %X 8

reopple: (1% xl% |l ] b6 [hieog

nNeapple .

preappies [xl# Jxlx[xlx] x| &8 3

o The total weight ic 160
30 gramg.

b. Express the total weight of the pineapple and orange in kilograms.

160 4 = L,1L0% (0.00 kg)

=[l1e kg[

EUREKA Lesson 15: Solve two-step word problems involving measurement conversions.

MATH 94
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NYS COMMON CORE MATHEMATICS CURRICULUM

Name

1. Divide. Draw number disks to show your thinking for (a) and (c). You may draw disks on your personal

white board to solve the others if necessary.

Lesson 16 Homework

Date

a. 300+10

§aevxex4-?aqé

b. 450+10

45

c. 18,000+ 100

e vex+ 'patﬂe

d. 730,000 + 100

71500

e. 900,000 + 1,000

G400

f. 680,000 + 1,000

LEO

2. Divide. The first one is done for you.

a. 18,000 + 20 b. 18,000 + 200 c. 18,000 + 2,000
- 18,000+ 10+ 2 :l%,obb—‘.—lbo-l.—z_ = |gobd = 1600 = L
= 1,800 + 2 - %0 =2 =19 T2
=900

= Qqb

= 1

d. 420,000+ 60

e. 420,000 + 600

f. 420,000 + 6,000

240000105 b | 2 YLppob1oD = [,|  =Yr0000% 1000 -
= 4ro0b + 6 _ 42bb = 4 - 420 = L

= 1b6DOb = 716D =0

COMMON Lesson 16: Use divide by 10 patterns for multi-digit whole number division.

CORE Date: 7/4/13

2013 Common Core, Inc. Some rights reserved. commoncore.org
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NYS COMMON CORE MATHEMATICS CURRICULUM

g. 24,000+ 30

h. 560,000 + 700

Lesson 16 Homework

= 4ooL =10 =3
= 7240L =3

z g0b

2¢L0bD0+ |pD <

2 Glob =77
o gDD

i. 450,000 + 9,000
=4Svord = 1ovp =9
- 4sv =9
= So

seats are in each section?

SoObLL = 281

3. A stadium holds 50,000 people. The stadium is divided into 250 different seating sections. How many

- CpbbL = |0 =25

GooL =25

= 080

a.

20b saats

tires, how many sets of tires will he use in a year?

[Lbbo = ¢pbDD

= [Lodbl ~ [obvs =Y

= lLxy

= 4

b.

many times will he change the oil in a year?

. [Lp0o0D =)D 00O

= b

COM MO N Lesson 16:
CORE Date:

2013 Common Core, Inc. Some rights reserved. commoncore.org

7/4/13

4. Over the course of a year, a tractor-trailer commutes 160,000 miles across America.

Assuming a trucker changes his tires every 40,000 miles, and that he starts with a brand new set of

L} sets of w'-;rag

If the trucker changes the oil every 10,000 miles and he starts the year with a fresh oil change, how

b ol cfnamxes

This work is licensed under a

Use divide by 10 patterns for multi-digit whole number division.

engage"’
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 17 Homework

Name Date

1. Estimate the quotient for the following problems. The first one is done for you.

. 821+41 b. 617 +23 c. 821+39
~ 800 + 40 :‘)DO - L0 :%Db . 4()
=20 = 50 -0

. 482:52 e. 531+:48 f. 141+73

S .50

Y

(0D

I

DD

-_ID - Ib - |
476 + 81 h. 645 +69 i. 599:99
.56D . [bD -=0b - D . Lo . LoD

-0

’6\

301 + 26

20 - 3D

Q

[D

k. 729+81

.710D

lbb

l. 636+25

0O

I

-

[D

Lesson 17:
Date:

Use basic facts to approximate quotients with two-digit divisors.
7/4/13
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 17 Homework

m. 835+ 89 n. 345+72 o. 559+11

900 9D o0 . |

&
J1
C
|

o
-4

i
’
\/\
3

2. Mrs. Johnson spent $611 buying lunch for 78 students. If all of the lunches were the same cost, about
how much did she spend on each lunch?

G\ =78
~~ (LDO=10D P’\ODVd' 3(0

= 6

3. Anoil well produces 172 gallons of oil every day. A standard oil barrel holds 42 gallons of oil. About how
many barrels of oil will the well produce in one day? Explain your thinking.

[T =U2
R A =50 Noowr & Lavcels

= 4

I COMMON Lesson 17: Use basic facts to approximate quotients with two-digit divisors. ny
CORE Date: 7/4/13 eng age
This work is licensed under a
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NYS COMMON CORE MATHEMATICS CURRICULUM

Name

Lesson 18 Homework

Date

1. Estimate the quotient for the following problems. The first one is done for you.

a. 8,328+41 b. 2,109 +23 c. 8,215+38
~ 8,000 + 40 2000 . A0 2?00() - 4D
=200 __lob -_2060

d. 3,861+59 e. 2,899+66 f. 5,576+92
3Lob . bbb - 2800 710 .SlLpb - IDD
gy - 40 - 56

g. 5,086+73 h. 8,432 +81 i. 9,032+89
4900 .70 -3%00 . Q0 -qooL . 9p
-710 -_p -_100

j- 2,759 +48 k. 8,194 +91 l. 4,368 +63
_300 . 5D .oy - 9d 400 - D
- GO - 90 710

m. 6,537 +74 n. 4,998 +48 o. 6,106+ 25
L3od . 70 500D . S0 000 . %p

I ESE/}EMON Ils?ts;n 18: ;J/s;/k;gsic facts to approximate quotients with two-digit divisors. engage ny

2013 Common Core, Inc. Some rights reserved. commoncore.org
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NYS COMMON CORE MATHEMATICS CURRICULUM

2. 91 boxes of apples hold a total of 2,605 apples. Assuming each box has about the same number of

apples, estimate the number of apples in each box.

2 (L,05-—+9|
= 00=9)p
=50

3. A wild tiger can eat up to 55 pounds of meat in a day. About how many days would it take for a tiger to

eat the following prey?

Lesson 18 Homework

Movut 20 g pplrs in 2o boox

Prey Weight of Prey Number of Days
Eland Antelope 1,754 pounds /ED
Boar 661 pounds l l
Chital Deer 183 pounds —3

Water Buffalo

2,322 pounds

d o

71sy=6%

(b =SS
A LbO=6D

|3% =S5

2372+ 5S¢
2 40D = bo

~ |gb+bb D% bo
=30 = |!I ~ . =40
= 3

I COM MON Lesson 18: Use basic facts to approximate quotients with two-digit divisors.

n
CORE Date: 7/4/13 enga_g'e y
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 19 Homework

Name Date

1. Divide, then check using multiplication. The first one is done for you.

a. 7120 Check.
3 R11 20%3 =60
2 of7 1
6 0 60+11=71
1 1
b. 90+40 2 nlD Ypx L =8d
ubic%% 0+ =Ip
&)
c. 9560 | 238 ox 1< Lb
o] %2—' 0+35 2G5

35

20 [A€0 -
2290 X6 +1b = A¥D
)
e. 437:60 7 &\ Lex1 =YW

Yo +110 = U37)
(,D_] 41;)7
\

f. 346+80 g (L'L(a ?qu_z.;%
)34 o+ A= 34,
—%310
16
COM MON Lesson 19: D-iv.ide twg— and three-digit divide.nds by mult.iples of 10 with single- ny
I CORE Date: (7i|/g4|;1qsuot|ents and make connections to a written method. engage 2.F.11
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 19 Homework

2. A number divided by 40 has a quotient of 6 with a remainder of 16. Find the number.

b R 1E Yorb=aD
' Q
o L2 ] ald +1L =25b

3. Ashipment of 288 reams of paper was delivered. Each of the 30 classrooms received an equal share of
the paper. Any extra reams of paper were stored. After the paper was distributed to the classrooms,
how many reams of paper were stored?

Eadh classroom received 4 reams of paper,
30 )Tg%k 3 ’TWEV‘ema\ning |R feams were stored .

=270
| &

4. How many sixties are in two hundred forty-four?

(LLl Tlere ave L, 5§X-\~§~€$ M
244 . There will Yo 4 LefF puoy

(H) L4 Y
- 24 )
4

I COMMON Lesson 19: Divide two- and three-digit dividends by multiples of 10 with single-

digit quotients and make connections to a written method. 2.F.12
CORE Date: AR, engage
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A STORY OF UNITS

Name

Lesson 20 Homework m

Date

1. Divide. Then, check with multiplication. The first one is done for you.

a. 72+31
2 R 10 Check:
31(7 2
e 5 31x2=62
10 62+10=72

c. 94+33 Q‘I\ec.ki

2R 33 }'%
2
3384 @) gq

= Y

e. 7925 ( J/\ec_lﬁ'-

311"} 75 >» 15
25, X 354— I“
_:772 s "7Cf

R

b. 8921 Q‘I\ec.li
4 RS

2] Eixt=vd

- 34 Wk 49:%ﬁf
5

f. 83<+21 .QL\LIL'

b=
2 RZD 2| 42D

X3 |\ =
21)83 T B

—(a
s Y

EUR!KA Lesson 20: Divide two- and three-digit dividends by two-digit divisors with single 279
— digit quotients, and make connections to a written method.
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A STORY OF UNITS Lesson 20 Homework m

2. A 91 square foot bathroom has a length of 13 feet. What is the width of the bathroom?

The width is T feet,

7
] A=l q i

7,(4. O

3. While preparing for a morning conference, Principal Corsetti is laying out 8 dozen bagels on square plates.
Each plate can hold 14 bagels.

a. How many plates of bagels will Mr. Corsetti have?
12

12 o
X % 419 6
~3
a4l \oeje s 81

| 2
He will have 1 phates.

b. How many more bagels would be needed to fill the final plate with bagels?

T[/\e-ﬁnal p"&‘l’-e_ I/\aS '2 bagels) so he will need +wo more loaQels.

EU“ Lesson 20: Divide two- and three-digit dividends by two-digit divisors with single 280
MAT",. digit quotients, and make connections to a written method.
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 21 Homework

Name Date

1. Divide, then check using multiplication. The first one is done for you.

a. 129+21

Check:
) 1’ﬁR3 21x6=126
- 12 6 126 +3 =129
3
IO
b. 158 +37 2 \Sg 21xY = Hg
LS 14¢ +1p = 15¢
lo
c. 261:49 GR\L yaIx S = 24§
qqm WslL=z 24!
-4 e
(A
d. 574+82 92 RO E1x77 = Y
$2) 51y
-S54
4]
e. 464 +58 3
¥ :qé
S A ¥ - ol

—4L Yy

(D)
i %i% L2u+10 < LYo
- -
o
Lesson 21: Divide two- and three-digit dividends by two-digit divisors with

I COM MON single-digit quotients and make connections to a written method. en a e ny
CORE Date: 7/4/13 g g
This work is licensed under a
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 21 Homework

2. It takes Juwan exactly 35 minutes by car to get to his grandmother’s. The nearest parking area is a 4-
minute walk from her apartment. One week he visited more often. He realized that he spent 5 hours and
12 minutes traveling to her apartment and then back home. How many round trips did he make to visit

3‘]]‘5|§_ % frips = d rond J’"F’

his grandmother?

Lo
X S A
EYY) 0
Zo0+12=312

3. How many eighty-fours are in 6727

g
$4)L71 2
— k72

O

I COM MON Lesson 21: Divide two- and three-digit dividends by two-digit divisors with

single-digit quotients and make connections to a written method. ny
CORE Date: 7/4/13 engage 2.F.36
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‘ A STORY OF UNITS Lesson 22 Homework m

Date

Name

1. Divide. Then, check using multiplication. The first one is done for you.

a. 487+21 2 3 R4 Check:
214 87

- 42 21 x23=483
6 7

~63 483 + 4 = 487
4

b. 485+15 Chedk:

32K§_ 3 Lfgo
15485 X\ j + 5
=45 T 445

VIN

s

R7
33 (oal3

) xz.l

— 65 L% - _“70

d. 399+31 Chedﬂ-

31)3%99 3| 372
1] E AL

-—
Lesson 22: Divide three- and four-digit dividends by two-digit divisors resulting in
EUREKA two- and three-digit quotients, reasoning about the decomposition of 305
successive remainders in each place value.

MATH
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Lesson 22 Homework m

. A STORY OF UNITS

e. 820+42 022 Check:
)__,.b Lz T9¢
i g§'¢ x 19|+ 2 /

2. When dividing 878 by 31, a student finds a quotient of 28 with a remainder of 11. Check the student’s
work, and use the check to find the error in the solution.

m&lo Check
3¢ 78
258 X28 + (D

—24y 2L & €7¢

| O
The remainder should be 0, not |1,

Lesson 22: Divide three- and four-digit dividends by two-digit divisors resulting in
EU“KA two- and three-digit quotients, reasoning about the decomposition of 306
MAT"" successive remainders in each place value.
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Lesson 23 Homework m

‘ A STORY OF UNITS

Name Date
1. Divide. Then, check using multiplication.
a. 9,962+41 Check b, 1495:459p  Check
24 ZR10 242 > Q921 33" 33 > 1485
51J94b2 %47 (+ yo 4495 Lz (+_io
—82_ 242 )\ 39062 5 15
| 76 t4¢630 —135 +1320
—1¢q4Y  @a=z/ |7 o 485 v
|22
— 84
40
c 6'6;9—1,; Zép:l:l Check d. 2,625+382 ‘Zﬂ Check
CLA | y 238 > 6uey 22025, 82 > 2kad
—2b ———\+ 27 -5
o 19 0 — 15 led \oLas
- sggj, +47¢Z 669! —g5  taipo
250 T fe l/ 1 262 4 L
— 22 l'
2 7
o . K . heck
: 2,4o|99.- 1@ ﬂg Check f. 5821 -‘?623755' C e:
126 3 5766
|q_)7l-;f09 « (7, 2372 (2)S82 | ¥ bz \+_ 55
=¥ (13y — G5¢g 1?0 522 |
290 +12bp ) M09 Sy 5530 s
29 23947/ S — (gL S7ec
- 1Yy 55
(5
wREA T ST

MATH
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‘ A STORY OF UNITS Lesson 23 Homework m

2. A political gathering in South America was attended by 7,910 people. Each of South America’s
14 countries was equally represented. How many representatives attended from each country?

There were 565" representative s fom

Eb5
each country.

It) 79 1o
—70
T

s YA

70

—10

O

3. A candy company packages caramel into containers that hold 32 fluid ounces. In the last batch,
1,848 fluid ounces of caramel were made. How many containers were needed for this batch?

s - K2 The candy company wil| need 58 containers,

525 |8Y4R 57 will be full. The 58thcontainer will only

—Ls_%? have 2Y fluid ounces.

— 224
2 Y

Lesson 23: Divide three- and four-digit dividends by two-digit divisors resulting in
EUR!KA two- and three-digit quotients, reasoning about the decomposition of 319
H'- successive remainders in each place value.
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‘ A STORY OF UNITS Lesson 24 Homework m

Name Date

1. Divide. Show every other division sentence in two steps. The first two have been done for you.

a. 1.8+6=0.3 b. 1.8+60=(1.8+6)+10=0.3+10=0.03

¢ 24:8-_ (3 d. 2.4+80=(2‘L“+83_:',0=0'?’—:'ID= 0.03

7.3

e. 146+2= f. 146+20=

(462D =0 =T7.3=10=0.73

s 2

g. 08+4= h. 80 +400

B0+¥)+=100 = 20100 = 0.2

0.0% (0.5 (0= 0.08=10=0.003

i. 056+7= j. 0.56+70=

.05

k. 9.45+9= . 9.45+900

_(A45=9)=100= 1.05+]00 = 00105

Lesson 24: Divide decimal dividends by multiples of 10, reasoning about the

EUREKA placement of the decimal point and making connections to a written 332

M ATH'- method.
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A STORY OF UNITS Lesson 24 Homework m

2. Use place value reasoning and the first quotient to compute the second quotient. Use place value to
explain how you placed the decimal point.

a. 65.6+80=0.82

2.2

65.6+8=

b. 2.5+50=0.05

25+5= 005

c. 19.2+40=0.48

19.2+4= 4.8

d. 39.6+6=6.6

39.6 +60 = 0’ (D(D

Lesson 24: Divide decimal dividends by multiples of 10, reasoning about the
EUREKA placement of the decimal point and making connections to a written 333

M ATH'- method.
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A STORY OF UNITS Lesson 24 Homework m

Chris rode his bike along the same route every day for 60 days. He logged that he had gone exactly
127.8 miles.

a. How many miles did he bike each day? Show your work to explain how you know.

[27.8% 6D -_—.(|2'7.8-3~(A—‘.-ID=2_L5+10= 2.13

He biked 7 .13 miles each day.

b. How many miles did he bike over the course of two weeks?
|

2 .13

x (Y

R 52
+ 2130

2 9.9 2

He biked 29.32 miles intwo weeks.

4. 2.1 liters of coffee were equally distributed to 30 cups. How many milliliters of coffee were in each cup?
2.1+30=(21+D*lo =0.7+I0 = 0.67

Eachcup has 0.07 liders of affee,

0.01L=T70mlL
Each cup has TOmL of coffee

Lesson 24: Divide decimal dividends by multiples of 10, reasoning about the
EU“KA placement of the decimal point and making connections to a written

334
M AT"'- method.
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. NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 25 Homework

Name Date

1. Estimate the quotients.
2 353:51~ 35-SD = 3.5=8=10 = )10
b, 242:42~ 2 =Yy - 24=Y4=|p = 6= =
c. 913:23~ [D=2p =10=2=10 =S=1Ib =\0.5
d. 79.2:39~ -0 =@

e. 719:58~ 1. 2=b0 =T7.2=6-=1p = [.2-=10 :@

2. Estimate the quotientin (a). Use your estimated quotient to estimate (b) and (c).

2 013:42~q.2=YD =924 21 = L.35p :@

b. 913:42~ )7

c. 913+42= Z .—5

Lesson 25: Use basic facts to approximate decimal quotients with two-digit 2.G.23
| COMMON o : ¢

divisors reasoning about the placement of the decimal point. ny
CORE Date: 7/4/13 enga'ge
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‘ NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 25 Homework

3. Mrs. Huynh bought a bag of 3 dozen toy animals as party favors for her son’s birthday party for $28.97.
Estimate the price of each toy animal.

I 299727 v 28Up =1%o =7 = 0.7
®

b Cach +o/ ic obogu “10%

4. Carter drank 15.75 gallons of water in 4 weeks. He drank the same amount of water each day.

a. Estimate how many gallons he drank in one day.

5SSt & lb=t = U, o eek ﬁg.;v;fdog\s/’ﬂallms
17~ 458 =05

b. Estimate how many gallons he drank in one week.

1S54~ (b= m each week

c. About how many days altogether will it take him to drink 20 gallons?

Lfgallons each week x @ = 20 gallons
T+ will +ake sbovt 5 weeks, which is 25 days.

NOTE ¢ Recause students are being asked +o estimate, each problem may have
mul+iple. correct “amswers”,

Lesson 25: Use basic facts to approximate decimal quotients with two-digit 2.G.24
| COMMON . : ¢ B

divisors reasoning about the placement of the decimal point. ny
CORE Date: 7/4/13 engage
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‘ A STORY OF UNITS Lesson 26 Homework

Name Date

1. Create two whole number division problems that have a quotient of 9 and a remainder of 5. Justify which

is greateqrusi&g$cimal division. q. (’,2-3__ lo q:,‘g
000 .
177 8177 -4
— 50 5 0
q RS —Yg =)

2. Divide. Then, check your work with multiplication.
a. 75.9+22 3. "’ 5 b. 97.28+19

22)75.9 © 5,12 x5.°]|:
b

3.45 ~Lb )97.2 8 6 o8
x 22 9 9 14 25' +5120
, LT0O -8 8 —9 2 97,23
67 00 Lt o _

.75.90 =1\l l q
b 38
~ 3%
o
c. 77.14+38 d. 12.18+29

03
2,03 2.38 0.42 0.42

3877,y Xl b 24 29712.1% 5’3%%‘
~7b Y\ F6090. 116 40

— 11 ! 4 7 o —_ 58
_ Y0 -
0 D
Lesson 26: Divide decimal dividends by two-digit divisors, estimating quotients,
EUREKA reasoning about the placement of the decimal point, and making 359
MATH" connections to a written method.
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. A STORY OF UNITS Lesson 26 Homework m

3. Divide.
a. 97.58+34 z.€'7 b. 55.35+45 1,23
« 34 1,23 L,
24)91.58 44010 Ty 1120
~G8 97,53 (o3 > 5.3
295 —1%3
~ 272 =135
238 o
-2 3%
O
4. Use the equations on the left to solve the problems on the right. Explain how you decided where to place
the decimal in the quotient. 2
a. 520.3+43=121 52.03+43 = (

The didend ic [0 Himes Smalior, So-He guvhent i
Lo [0 Hines smaller, Foo.

5.3

b. 19.08 +36=0.53 190.8 + 36 =

The Awidend ic 1D Himec \o'lgﬁ{,( , SoHe guohent i
‘OQ/ [0 times \9%9( )"'oo.

Lesson 26: Divide decimal dividends by two-digit divisors, estimating quotients,

EUREKA reasoning about the placement of the decimal point, and making 360

MATH" connections to a written method.
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A STORY OF UNITS Lesson 26 Homework m

5. You can look up information on the world’s tallest buildings at
http://www.infoplease.com/ipa/A0001338.html.

a. The Aon Centre in Chicago, lllinois, is one of the world’s tallest buildings. Built in 1973, it is 1,136 feet
high and has 80 stories. If each story is of equal height, how tall is each story?

O Each story 1s 4.2 feet tll,

b. Burjal Arab Hotel, another one of the world’s tallest buildings, was finished in 1999. Located in

Dubai, it is 1,053 feet high with 60 stories. If each floor is the same height, how much taller or shorter
is each floor than the height of the floors in the Aon Center?

17.55 Eachstory is 17.55 feet +ll.

0
17.55
— (4.2

3.35

—q DO 1he floovs ¢ +Hhe Buyg ol Arab Hotel ave
0

3.35 feet faller Hhan+He floors of Hhe
Aon Center,

Lesson 26: Divide decimal dividends by two-digit divisors, estimating quotients,
EUREKA reasoning about the placement of the decimal point, and making 361

MATH" connections to a written method.
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 27 Homework

Name Date

1. Divide and check.

a.l7§28 c. 6.5+135 13 e. 561.68+28 20.0L
. 015 . % 204 b .
187.06 * 28 Bies S 1850168 18
-SC_ 100 -l s ° -Sb_ 4-q|% f Yy 8
4o  +500 o 6168 L
-4 10 0 - b K Sel,b ¢
0 o
b. 51+25 d. 132.16+16 f. 604.8+36
25 a0 %26 yq°—(—t 1 be3 b. ¢
_?é"’o bj1372.lL 95 b %;W * 36
Y -12¥ +910L - 3L 1L 0§
“lbo I O B S A 299 _obdo
) 32 “alp 60 4,9
7.04 96 28¢
x 1¢g _q% -199
o2 0 0
+Y403 0
B0 0

2. Inascience class, students water a plant with the same amount of water each day for 28 consecutive
days. If the students use a total of 23.8 liters of water over the 28 days, how many liters of water did they
use each day? How many milliliters did they use each day?

% S
18 71%.3 0 They use 0,85 L eadh day.

' V(Z 0.85 L = 250 wml

Lesson 27: Divide decimal dividends by two-digit divisors, estimating quotients,

I COMMON reasoning about the placement of the decimal point, and making ny
CORE connections to a written method. engage
Date: 7/4/13

This work is licensed under a

© 2013 Common Core, Inc. Some rights reserved. commoncore.org (cc) SV-NC-SA Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

2.G.48




NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 27 Homework

3. Aseamstress has a piece of cloth that is 3 yards long. She cuts it into shorter lengths of 16 inches each.

How many of the shorter pieces can she cut?

10 U.WD_Z; e can cut [, of the shovter pieces
X3 —9b

-_— e/

\o ¥ 'z

4. Jenny filled 12 pitchers with an equal amount of lemonade in each. The total amount of lemonade in the
12 pitchers was 41.4 liters. How much lemonade would be in 7 pitchers?

2,45 S.us 24.15 lidevs 1h Hhe

127 SLH. 0 R X
YA | x4, s Sevew pitchevs.

f__g—'.f
- 49
b0
- 1,0

Lesson 27: Divide decimal dividends by two-digit divisors, estimating quotients,
I COMMON reasoning about the placement of the decimal point, and making ny 2.G.49
CORE connections to a written method. engage T
Date: 7/4/13
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 28 Homework

Name Date

1. Mr. Rice needs to replace the 166.25 ft of edging on the flower beds in his backyard. The edging is sold in
length of 19 ft each. How many lengths of edging will he need to purchase?

RS He will need 4o

' lql”yb-l
patiafel ---- A Jls2 > bouy 9 lengths |
l
e
16b.2S Feet q
" g

S
2 x 1M =b2S qs_
0]

2. Olivia is making granola bars and will use 17.9 oz of pistachios, 12.6 oz of almonds, 12.5 oz of sunflower
seeds, and 12.5 oz of cashews. This amount makes 25 bars. What is the total amount of nuts in each

bar? 2,2 2

7.9
16|585.S0
2.6 _{.;D

12.5 "S5
Y118 -So_

55E,S =0
-Sb

O

3. Adam has 16.45 kg of flour and he uses 6.4 kg to make hot cross buns. The remaining flour is exactly
enough to make 15 batches of scones. How much flour will be in each batch?

L7 . .
[, . US . There is 0.67 kg of Flour jn
— oy N

-—
L0 &
COM MON Lesson 28: Solve division word problems involving multi-digit division with ny
CORE group size unknown and the number of groups unknown. engage
Date: 7/4/13
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 28 Homework

4. There are 90 fifth grade students going on a field trip. Each one pays the teacher $9.25 to cover
admission to the theater and lunch. Admission for the students will cost $315 and each one gets and
equal amount to spend on lunch. How much will each fifth grader be able to spend on lunch?

1.2¢ 232 S0 5,15

2 1 7.5 D 450
$32,50 5 67%
b2 L

S

-4So
Each studend oazjt's B515 Por luneh  °

5. Ben is making math manipulatives to sell. He needs to make at least $450. Each manipulative costs $18
to make. He is selling them for $30 each. What is the minimum number he can sell to reach his goal?

20 127450 He will nead +p g2l 33 mami pulgtives
gl
12
¥12 peolid on
'der\ ]‘l-'?W\

COM MON Lesson 28: Solve division word problems involving multi-digit division with ny
CORE group size unknown and the number of groups unknown. engage 2.H.14
Date: 7/4/13 -
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 29 Homework

Name Date

Directions: Solve the word problems using the bar model.

1. Michelle wants to save $150 for a trip to Six Flags Amusement Park. If she saves $12 each week, how
many weeks will it take her to save enough money for the trip?

_ T will toke 13 weeks 4y
2 2] - - 12, 5
k/\/_\} 'L \‘25_0. 0 Sawe ev\ouﬂfz\.

§\9{3\ 30
O dwelvys —Z},

2. Karen works for 85 hours over a two week period. She earns $1,891.25 over this period. How much does
Karen earn for 8 hours of work?

15, 22,25 112.1.%

\ELLU\_] s (191,25 * %
o 18,0 0
19 ‘
112 '
§1931.25 - % Q\’!%

5 hour S T yzg
—4dws

(o)
3. The area of a rectangle is 256.5 m”. If the length is 18 m, what is the perimeter of the rectangle?

|3 1%2%’2 (425x2) +(13x2) +:L;{S
18

"714
— S
-1

0

yv

7w 36

9
|4.25 w =1

COMMON | Lesson29: Solve division word problems involving multi-digit division with ny
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4. Tyler baked 702 cookies. He sold them in boxes of 18. After selling all the boxes of cookies, he earned
$136.50. What was the cost of one box of cookies? 32 g 0
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5. Aparkis4times as long as it is wide. If the distance around the park is 12.5 kilometers, what is the area
of the park?
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